ABS Plastic Enclosures mult?comp

Features:

» Designed to house P.C. boards - sealed from dust and water (not for outdoor use)

* Molded in light grey - general purpose ABS plastic with a light texture

» Two part - styled lid construction. Top half includes smooth recessed area for membrane,
label or silk screen

» P.C. board standoffs are molded into the bottom (two smallest sizes) and molded into
both halves of the enclosure. Four short M3 self tapping screws included

» Gasket lid with two piece “tongue & groove” construction provides protection against
access of oil, dust and water

* Includes four - M4 assembly screws
» Lid screws are self captivating

Contains:

» Lid Screws: M4 x 18 self tap, 304 Stainless

* Gasket : EDPM Cord

» Circuit Board Screws, 8 Supplied (M3 self tap)

» Suggested Lid Screw Torque: 30 oz f-in (21 cN-m)

234.00
[9.213in]
A
= ——127.00 mm—
B [5.000 in]
180.00 mm 5|
{7.087 in] |
B t | * B P 117.50 mm
1~ - - 184,99 mm 100.00 mm [4.626 in]
[7.244 in] 20397 mm [3.937 in]
[8.030in]
4
)
; o 6.00 mm SECTION B-B
.236
<J . o | [0.236 in]
A pag oo
20600 mm-— SECTION A-A
ASSEMBLY - TOP
247.49
[9.744 in] %3256827 i
.. in
I 220.49 |
[8.681 in] ‘ i felfwzg in] i
o] 1] [
o0, e e 00 ® )
o o
197.49 mm
[7.775in]
® ® o ® 192.87 mm 165.27 mm
170.49 mm {7.593 in] [6.507 in]
[6.712in]
- 9.00 mm ° °
ond o e o] [0.354 in] R R
° © 2 %
ASSEMBLY - INSIDE (BOX) ASSEMBLY - INSIDE (LID)
Part Number Table
Description Part Number
ABS Plastic Enclosures MC001291

Important Notice : This data sheet and its contents (the “Information”) belong to the members of the Premier Farnell group of companies (the “Group”) or are licensed to it. No licence is granted
for the use of it other than for information purposes in connection with the products to which it relates. No licence of any intellectual property rights is granted. The Information is subject to change
without notice and replaces all data sheets previously supplied. The Information supplied is believed to be accurate but the Group assumes no responsibility for its accuracy or completeness, any
error in or omission from it or for any use made of it. Users of this data sheet should check for themselves the Information and the suitability of the products for their purpose and not make any
assumptions based on information included or omitted. Liability for loss or damage resulting from any reliance on the Information or use of it (including liability resulting from negligence or where the
Group was aware of the possibility of such loss or damage arising) is excluded. This will not operate to limit or restrict the Group’s liability for death or personal injury resulting from its negligence.
Multicomp is the registered trademark of the Group. © Premier Farnell plc 2012.

www.element14.com @
f Il.
multicomp

Page <1> 30/06/16 V1.0



